
𝑙𝑒𝑡 𝑥 = # customers per day. 
𝑥 ഥ = 12. Find 𝑃(𝑥 = 8).

𝑃(𝑥) =
µ௫𝑒ିµ

𝑥!
⎯⎯⎯⎯⎯⎯

𝑃(8) =
12଼𝑒ିଵଶ

8!
⎯⎯⎯⎯⎯⎯⎯

𝑝(8) = 0.0655

𝑙𝑒𝑡 𝑥 = # texts/2hrs. 
𝑥 ഥ = 7. Find 𝑃(𝑥 = 9).

𝑃(𝑥) =
µ௫𝑒ିµ

𝑥!
⎯⎯⎯⎯⎯⎯

𝑃(8) =
7ଽ𝑒ି଻

9!
⎯⎯⎯⎯⎯

𝑝(8) = 0.1014

𝑃(24) ; 8 ℎ𝑟𝑠. 𝑥 ഥ= ସ

ଶ௛௥௦
⎯⎯⎯ ×

ସ

ସ
⎯

𝑥 ഥ=ଶ଼௧௘௫௧௦

଼௛௥௦
⎯⎯⎯⎯⎯⎯

𝑃(𝑥) =
µ௫𝑒ିµ

𝑥!
⎯⎯⎯⎯⎯⎯

𝑃(24) =
28ଶସ𝑒ିଶ଼

24!
⎯⎯⎯⎯⎯⎯⎯⎯

𝑝(24) = 0.0601

𝑙𝑒𝑡 𝑥 = # calls/h. 𝑥 ഥ = 5. 
Find 𝑃(𝑥 = 3).

        𝑃(𝑥) =
µ௫𝑒ିµ

𝑥!
⎯⎯⎯⎯⎯⎯

𝑃(𝑥 = 7) =
5ଷ𝑒ିହ

3!
⎯⎯⎯⎯⎯

𝑝(𝑥 = 7) = 0.1404

𝑃(𝑥 ≤ 3) = 𝑃(𝑥 = 1) + 𝑃(𝑥 = 2) + 𝑃(𝑥 = 3)

         𝑃(𝑥) =
µ௫𝑒ିµ

𝑥!
⎯⎯⎯⎯⎯⎯

𝑃(𝑥 ≤ 3) = 𝑒ିµ ቆ
µ௫

𝑥!
⎯⎯⎯ቇ

𝑃(𝑥 ≤ 3) = 𝑒ି5 ቆ
5௢

0!
⎯⎯⎯+

5ଵ

1!
⎯⎯ +

5ଶ

2!
⎯⎯ +

5ଷ

3!
⎯⎯ቇ

𝑃(𝑥 ≤ 3) = 0.2650

𝑃(𝑥 ≤ 3)

𝐺𝐶𝐹 = 𝑒ିµ

𝑝(𝑥 > 4) = 1 − 𝑝(𝑥 ≤ 3)
                   = 1 − 0.1912
                   = 0.8088

𝑝(𝑋 ≤ 𝑥)
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